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four decimals, order of operations with brackets

Name:

(33-53)x39-49=

1544+ 4.7)+5 =

2.5+ 5)x6+3.1=

12(64—53)+3 =

18(3.9 - 6)+3 =

Date: Score:

(43+32)x3.1+6=

(6+3—4)x 54 =

(4—5.6)x4.8+5.7=

53+2.9(6.6—6.5) =

(3.8—3.8)x58+2.1=
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I l k ' . . four decimals, order of operations with brackets

Name: Date: Score:
(33—-53)x39-49=-127 (43+32)x3.1+6=2925
1544+47)+5=273 (6+3—-4)x54=-1038
25+5)x6+3.1=48.1 (4—5.6)x48+57=-198
12(64—-53)+3 =44 53+2.9(6.6—-6.5)=15.59
183.9—-6)+3=-12.6 (3.8—38)x58+2.1=21
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